
METHOD 3.22f (3).

Formula Emission Limit (Georgia Rule (d)) 

PROCESS       
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POLLUTANT:  PARTICULATE MATTER  (this method for PM only)
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General Equation :

1.
First calculate a: total heat input to fuel burning equipment during the calendar year. Multiply the total amount of each type of fuel burned times it's heat content.  Sum the Btu/yr for each fuel and enter the results for "a".  Do not include the heat input from distillate oil (no. 2 or lighter), gaseous fuels, and liquified petroleum gas.  The company may provide their own heat contents provided that they meet the requirements of Appendix A, method 19 of EPD's Testing and Monitoring Procedures Manual, or they may use "Default Heat Contents" shown here under 3.22e (2) or in the Fee Manual.
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	a = Total Btu/yr
	     


2.
Total hours of operation during calendar year: b =       Do not include hours when the equipment was burning only distillate oil, gaseous fuels, or LPG.

3.
R = a/b=((1.)       Btu/yr) / ((2.)      ))/(106) =       MMBtu/hr


Where R equals the annualized MMBTU/Hr.

4.
Was this fuel burning equipment constructed on or before Jan. 1, 1972?


 FORMCHECKBOX 
 yes   FORMCHECKBOX 
 no

5.
EL = Particulate matter emission limit (lb/MMBtu).  Calculate EL using Rule (d) and the value of R calculated in no. 3 above.  If the answer to question no. 4 was yes, use equation for Rule (d)1.  If the answer to question no. 4 was no, use equation for Rule (d)2.

Rule (d)1 (pre-1972)

EL (lb/MMBtu) = 0.7(10/R)0.202 

= 0.7 x (10/((3.)      )0.202 =       lb/MMBtu

or

Rule (d)2 (post-1972)

EL (lb/MMBtu) = 0.5(10/R)0.5 

= 0.5 x (10/((3.)      )0.5 =       lb/MMBtu

6.
OL = Operating Level ("R" from no. 3, above) =       MMBtu/hr

7.
HR/YR = hours of operation ("b" in no. 2) =      
8.
Use general equation to calculate ER.


ER = (EL x OL x HR/YR)/2000


ER = (((5.)      )x((6.)      )x((7.)      ))/2000 



=       Tons/yr

	Emissions =  
	     
	tons
	Enter Result on 

"Summary of Calculations" Sheet
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